
khfhzf; fy;tpj; jpizf;fsk; - tlf;F khfhzk; 

 

 

 

1. $l;Lf.8+2  
 
 

2. fhl;lg;gl;l tl;lj;jpd; kPJ Gs;sp A ,id Fwpj;Jf; fhl;Lf?  
 
 
 

3. rpwpa tl;l myq;fhuk; xd;W tiuf? 
 
 
 
 

4. 7248 vDk; vz;zpd; Ehwhkplj;J ,yf;fk; ahJ? 
 
 

5. 7248 ,y; 7 Fwpf;Fk; ngWkhdk; ahJ? 
 
 

6. &gh 120 nfhLj;J &gh 80 ngWkjp cs;sGj;jfj;ijthq;fpatUf;Ffpilf;Fk;kPjpahJ? 
 
 

7. 3 epkplq;fs; 20 nrf;fd;fs; vd;gij nrf;fd;fspy; jUf? 
 
 

8. tFg;nghd;wpy; 24 Mz; gps;isfSk; 18 ngz; gps;isfSk; cs;sdh;. tFg;gpy;cs;s 
nkhj;j khzth;fspd; vz;zpf;if ahJ? 
 
 

9. ngUf;Ff.36 ×  8 
 
 

10. tFf;Ff.216 ÷  6 
 
 

11. xU tUlj;jpy; vj;jid khjq;fs; cs;sd? 
 
 

12. 220 ,id 6 My; tFf;Fk;NghJ kPjp ahJ? 
 
 
 
 

juk; - 06                     fzpjk;                      Neuk; - 2 kzpj;jpahyk; 

Rl;nlz; -  Gs;sp -  

gFjp 1 
vy;yh tpdhf;fSf;Fk; tpil jUf. 

13. 136 ,id fpl;ba 10 ,d; klq;fpw;F kl;le;jl;Lf? 



14. cg jpirfs; 4 ck; vit? 
 
 
 

15. gpw;gfy; 6.15 ,id epak Neuj;jpy; jUf? 
 
 

16. 12 k; jpfjp khrp khjk; 2018 k; Mz;L ,id ru;tNjr epak Kiwapy; vOjpf;fhl;Lf? 
 
 

17. xU ehs; vj;jid kzpj;jpahyq;fisf; nfhz;lJ? 
 
 

18. +4 w;Fk; -2 w;Fk; ,ilapy; cs;s vz;fis vOJf? 
 
 

19. fpl;ba 10 w;F kl;le;jl;Lk;NghJ 50 fpilf;Fk; rpwpavz; > ngupa vz; ahJ? 
 
 
 

20. ghlrhiy xd;wpy; tpisahl;Lg;Nghl;b gpw;gfy; 1.30 w;F Muk;gkhfp gpw;gfy; 6.15 w;F 
epiwtile;jJ vdpy; vLj;j fhyj;ijf; fhz;f? 

 

 

 

gFjp 2 

vy;yh tpdhf;fSf;F tpil jUf 

tpdh ,y 1 

 

 

 

 

 

 

NkNy fhl;lg;gl;l glj;ij mtjhdpj;J fPNo jug;gl;l tpdhf;fSf;F tpil jUf. 

1. 0 w;F gpujhd jpirfspy; cs;s Mq;fpy vOj;Jf;fs; vit? 
 
 

2. 0 w;F njd;Nkw;F jpirapy; mike;Js;s Gs;sp ahJ? 
 

A 
P 

R 

B 

S 

Q 

O 
D 

C 

3. B w;F njw;Nf mike;Js;s Gs;sp ahJ? 



 
 
 

5. D w;F tlf;Nf mike;Js;s Gs;sp ahJ? 

 

tpdh ,y 2 

 

 

 

 

 

 
 

NkNy fhl;lg;gl;Ls;s Neh;NfhLfshy; Mf;fg;gl;l cUit mtjhdpj;J fPNo jug;gl;l 
tpdhf;fSf;F tpil jUf. 

1. Nfhzk; b vt; tifahd Nfhzk;? 
 

2. tpupNfhzj;ijf; Fwpf;Fk; vOj;J ahJ? 
 

3. $h;q;Nfhzj;ijf; Fwpf;Fk; vOj;J ahJ? 
 

4. Neh;Nfhzk; xd;iw tiue;J eFwpj;Jf; fhl;Lf? 
 

5. d Fwpf;Fk; Nfhztif ahJ? 
 

6. fbfhuk; xd;wpy; 12.15 kzp Fwpf;Fk; Nfhz tif ahJ? 

(𝟔 × 𝟐 = 𝟏𝟐Gs;spfs;)  

 tpdh ,y 3 

1. $l;lnkhd;wpy; 908 Ngh; gq;Fgw;wpdhh;fs;. mth;fspy; 599 Ngh; Mz;fshthh;. $l;lj;jpy; 
gq;Fgw;wpa ngz;fspd; vz;zpf;;if ahJ? 

 

2. tq;fp xd;wpy; eprh 8756 &ghitAk; ujp 6859 &ghitAk; utp 7200 &ghitAk; itg;Gr; 
nra;jpUe;jdh;. %tUk; nkhj;jkhf itg;Gr; nra;j njhif ahJ? 
 

 

3. 768 × 64  ngUf;Ff? 

 

4.  D MdJ 0 w;F vj; jpirapy; mike;Js;sJ? 

 
5. P MdJ 0 w;F vj; jpirapy; mike;Js;sJ? 

(𝟔 × 𝟐 = 𝟏𝟐Gs;spfs;)  

b 

c 

a 

d 



4. 3672 18  tFf;Ff? 

(𝟑 × 𝟒 = 𝟏𝟐 Gs;spfs;) 

tpdh ,y 4 

1. 736 ,y; 3 Fwpf;Fk; ,lk; ahJ? 

2. 8756 ,y; 7 Fwpj;J epw;Fk; ngWkhdk; ahJ? 

3. 40204234620 vd;w vz;iz tyaq;fshf gpupj;J vOJf? 

 

4. 60  000 004 vd;w vz;iz nrhw;fspy; vOJf? 
 
 
 
 

5. MW gpy;ypad; ,Ugj;Jehd;F kpy;ypad; vOEhw;W Ij;gjhapuj;J Ehw;W ,Ugj;Jehd;F 
vd;gij ,yf;fj;jpy; vOJf? 

 
(𝟐 +  𝟑 + 𝟑 + 𝟐 +  𝟐 =  𝟏𝟐 Gs;spfs;) 

tpdh ,y 5  

 
 
          -4     -3    -2   -1    0   1    2   3    4    5    6 

 

1. NkYs;s vz;Nfhl;by;  p, q,  r Fwpj;J epw;Fk; Gs;spfis vOJf? 
   p -                                          q -                                                  r - 
 

2. A= (-3)  B= 0 vDk; Gs;spfis NkNy cs;s vz;Nfhl;by; Fwpf;Ff? 
 

3. NkNy vz;Nfhl;by; Fwpf;fg;gl;l Gs;spfspy; kpfr; rpwpa vz;izf; Fwpf;Fk; vOj;J 
ahJ? 
 
 

4. nghUj;jkhd rkdpypf;FwpaPLfis ,Lf. 
i. ( 3) -------- (2) 
ii. 0 ---------- (-2) 
iii. (-4) -------(-12) 

( 𝟑 + 𝟐 + 𝟐 + 𝟏 +  𝟐 + 𝟐 =  𝟏𝟐 Gs;spfs;) 

 

 

p r q 


